G = n goee = Poi X A9 /A8asug
001 010

s[enpisay

vY0—-d€9°C -+ vY0—-dv6°c = WJOoN B T T [TT1T 1 1T 1 T T [TTT T T F
10-398'% -+  10-3Iv2L = [A%v] L - AT E
20-3v.'9 -+  €0-300'1 = Hy - QLVAT
£1-395°8 = xni4 - AfAfLT ]
20-4¥2'6 = ajed OOQW _ 1 1 | I T T B 1 | I .|.
A9/ AS1auy A9¥ /ABasuy
001 010 001 010

T [TTTT T T T 1 [TTTTT =TT [TTTT T T T 1 [TTTT T H
e = =

= $-01 w..

| o
S n ]

- =
- 7 — -
3 ™~ - -
oot § | T m
| [ - D -
- 7 B T N

u ~

E o I

E N A -
L T N T B [111 11 7l I TN T B B 11111 H

(A®¥ s)/syuno)

610980—¥'00LE01F SXde eXauw, wures 1200 6261€6



